# On Generalized Absolute Matrix Summability of Infinite Series 

Hikmet S. Özarslan and Ahmet Karakaş*<br>Department of Mathematics, Erciyes University, 38039 Kayseri, TURKEY<br>*Corresponding author: ahmetkarakas1985@hotmail.com


#### Abstract

In this paper, we have generalized a known theorem on $\left|\bar{N}, p_{n}\right|_{k}$ summability factors of infinite series with a new summability method by using almost increasing sequences. This new theorem also includes several new and known results.


Keywords. Summability factors; Absolute matrix summability; Almost increasing sequence; Infinite series; Hölder inequality; Minkowski inequality
MSC. 26D15; 40D15; 40F05; 40G99
Received: March 2, $2017 \quad$ Accepted: March 25, 2019

[^0]
## 1. Introduction

A positive sequence ( $b_{n}$ ) is said to be almost increasing if there exists a positive increasing sequence ( $c_{n}$ ) and two positive constants $A$ and $B$ such that $A c_{n} \leq b_{n} \leq B c_{n}$ (see [1]). Obviously every increasing sequence is almost increasing sequence but the converse need not be true as can be seen from the example $b_{n}=n e^{(-1)^{n}}$. Let $\sum a_{n}$ be a given infinite series with partial sums $\left(s_{n}\right)$. Let $\left(p_{n}\right)$ be a sequence of positive numbers such that

$$
\begin{equation*}
P_{n}=\sum_{v=0}^{n} p_{v} \rightarrow \infty \quad \text { as } n \rightarrow \infty, \quad\left(P_{-i}=p_{-i}=0, i \geq 1\right) \tag{1.1}
\end{equation*}
$$

The sequence-to-sequence transformation

$$
\begin{equation*}
\sigma_{n}=\frac{1}{P_{n}} \sum_{v=0}^{n} p_{v} s_{v} \tag{1.2}
\end{equation*}
$$

defines the sequence ( $\sigma_{n}$ ) of the Riesz mean or simply the ( $\bar{N}, p_{n}$ ) mean of the sequence $\left(s_{n}\right)$, generated by the sequence of coefficients $\left(p_{n}\right)$ (see [ [8]). The series $\sum a_{n}$ is said to be summable $\left|\bar{N}, p_{n}\right|_{k}, k \geq 1$, if (see [6] $]$

$$
\begin{equation*}
\sum_{n=1}^{\infty}\left(\frac{P_{n}}{p_{n}}\right)^{k-1}\left|\sigma_{n}-\sigma_{n-1}\right|^{k}<\infty \tag{1.3}
\end{equation*}
$$

and it is said to be summable $\left|\bar{N}, p_{n}, \beta ; \delta\right|_{k}, k \geq 1, \delta \geq 0$ and $\beta$ is a real number, if (see [7])

$$
\begin{equation*}
\sum_{n=1}^{\infty}\left(\frac{P_{n}}{p_{n}}\right)^{\beta(\delta k+k-1)}\left|\sigma_{n}-\sigma_{n-1}\right|^{k}<\infty \tag{1.4}
\end{equation*}
$$

If we take $\beta=1$, then $\left|\bar{N}, p_{n}, \beta ; \delta\right|_{k}$ summability reduces to $\left|\bar{N}, p_{n} ; \delta\right|_{k}$ summability (see [5]). Also, if we take $\beta=1$ and $\delta=0$, then $\left|\bar{N}, p_{n}, \beta ; \delta\right|_{k}$ summability reduces to $\left|\bar{N}, p_{n}\right|_{k}$ summability.

Let $A=\left(a_{n v}\right)$ be a normal matrix, i.e., a lower triangular matrix of nonzero diagonal entries. Then $A$ defines the sequence-to-sequence transformation, mapping the sequence $s=\left(s_{n}\right)$ to $A s=\left(A_{n}(s)\right)$, where

$$
\begin{equation*}
A_{n}(s)=\sum_{v=0}^{n} a_{n v} s_{v}, \quad n=0,1, \ldots \tag{1.5}
\end{equation*}
$$

The series $\sum a_{n}$ is said to be summable $\left|A, p_{n}\right|_{k}, k \geq 1$, if (see [12])

$$
\begin{equation*}
\sum_{n=1}^{\infty}\left(\frac{P_{n}}{p_{n}}\right)^{k-1}\left|\bar{\Delta} A_{n}(s)\right|^{k}<\infty \tag{1.6}
\end{equation*}
$$

We say that the series $\sum a_{n}$ is summable $\left|A, p_{n}, \beta ; \delta\right|_{k}, k \geq 1, \delta \geq 0$ and $\beta$ is a real number, if

$$
\begin{equation*}
\sum_{n=1}^{\infty}\left(\frac{P_{n}}{p_{n}}\right)^{\beta(\delta k+k-1)}\left|\bar{\Delta} A_{n}(s)\right|^{k}<\infty \tag{1.7}
\end{equation*}
$$

where

$$
\begin{equation*}
\bar{\Delta} A_{n}(s)=A_{n}(s)-A_{n-1}(s) \tag{1.8}
\end{equation*}
$$

If we take $\beta=1$, then $\left|A, p_{n}, \beta ; \delta\right|_{k}$ summability reduces to $\left|A, p_{n} ; \delta\right|_{k}$ summability (see [10]). Also, if we take $\beta=1$ and $\delta=0$, then $\left|A, p_{n}, \beta ; \delta\right|_{k}$ summability reduces to $\left|A, p_{n}\right|_{k}$ summability.

Before stating the main theorem we must first introduce some further notations.
Given a normal matrix $A=\left(a_{n v}\right)$, we associate two lower semimatrices $\bar{A}=\left(\bar{a}_{n v}\right)$ and $\hat{A}=\left(\hat{a}_{n v}\right)$ as follows:

$$
\begin{equation*}
\bar{a}_{n v}=\sum_{i=v}^{n} a_{n i}, \quad n, v=0,1, \ldots \tag{1.9}
\end{equation*}
$$

and

$$
\begin{equation*}
\hat{a}_{00}=\bar{a}_{00}=a_{00}, \hat{a}_{n v}=\bar{a}_{n v}-\bar{a}_{n-1, v}, \quad n=1,2, \ldots . \tag{1.10}
\end{equation*}
$$

It may be noted that $\bar{A}$ and $\hat{A}$ are the well-known matrices of series-to-sequence and series-toseries transformations, respectively. Then, we have

$$
\begin{equation*}
A_{n}(s)=\sum_{v=0}^{n} a_{n v} s_{v}=\sum_{v=0}^{n} \bar{a}_{n v} a_{v} \tag{1.11}
\end{equation*}
$$

and

$$
\begin{equation*}
\bar{\Delta} A_{n}(s)=\sum_{v=0}^{n} \hat{a}_{n v} a_{v} . \tag{1.12}
\end{equation*}
$$

## 2. Known Result

In [3], Bor has proved the following theorem for $\left|\bar{N}, p_{n}\right|_{k}$ summability factors of infinite series.
Theorem 2.1. Let ( $X_{n}$ ) be an almost increasing sequence and let there be sequences ( $\beta_{n}$ ) and ( $\lambda_{n}$ ) such that

$$
\begin{align*}
& \left|\Delta \lambda_{n}\right| \leq \beta_{n},  \tag{2.1}\\
& \beta_{n} \rightarrow 0 \text { as } n \rightarrow \infty,  \tag{2.2}\\
& \sum_{n=1}^{\infty} n\left|\Delta \beta_{n}\right| X_{n}<\infty,  \tag{2.3}\\
& \left|\lambda_{n}\right| X_{n}=O(1) \tag{2.4}
\end{align*}
$$

and

$$
\begin{equation*}
\sum_{v=1}^{n} \frac{\left|t_{v}\right|^{k}}{v}=O\left(X_{n}\right) \text { as } n \rightarrow \infty, \tag{2.5}
\end{equation*}
$$

where $\left(t_{n}\right)$ is the $n$-th $(C, 1)$ mean of the sequence $\left(n a_{n}\right)$. Suppose further, the sequence $\left(p_{n}\right)$ is such that

$$
\begin{align*}
& P_{n}=O\left(n p_{n}\right)  \tag{2.6}\\
& P_{n} \Delta p_{n}=O\left(p_{n} p_{n+1}\right) \tag{2.7}
\end{align*}
$$

then the series $\sum_{n=1}^{\infty} a_{n} \frac{P_{n} \lambda_{n}}{n p_{n}}$ is summable $\left|\bar{N}, p_{n}\right|_{k}, k \geq 1$.
Remark 2.2. It should be noted that, from the hypotheses of Theorem 2.1, $\left(\lambda_{n}\right)$ is bounded and $\Delta \lambda_{n}=O(1 / n)$ (see [2]).

## 3. Main Result

The aim of this paper is to generalize Theorem 2.1 for absolute matrix summability.
Now, we shall prove the following theorem:
Theorem 3.1. Let $A=\left(a_{n v}\right)$ be a positive normal matrix such that

$$
\begin{align*}
& \bar{a}_{n 0}=1, \quad n=0,1, \ldots,  \tag{3.1}\\
& a_{n-1, v} \geq a_{n v}, \text { for } n \geq v+1,  \tag{3.2}\\
& a_{n n}=O\left(\frac{p_{n}}{P_{n}}\right),  \tag{3.3}\\
& \left|\hat{a}_{n, v+1}\right|=O\left(v\left|\Delta_{v}\left(\hat{a}_{n v}\right)\right|\right) . \tag{3.4}
\end{align*}
$$

Let $\left(X_{n}\right)$ be an almost increasing sequence. If the conditions (2.1)-(2.4) and (2.6)-(2.7) of Theorem 2.1] and

$$
\begin{align*}
& \sum_{n=1}^{m}\left(\frac{P_{n}}{p_{n}}\right)^{\beta(\delta k+k-1)-k}\left|t_{n}\right|^{k}=O\left(X_{m}\right) \text { as } m \rightarrow \infty  \tag{3.5}\\
& \sum_{n=v+1}^{\infty}\left(\frac{P_{n}}{p_{n}}\right)^{\beta(\delta k+k-1)-k+1}\left|\Delta_{v}\left(\hat{a}_{n v}\right)\right|=O\left(\left(\frac{P_{v}}{p_{v}}\right)^{\beta(\delta k+k-1)-k}\right), \tag{3.6}
\end{align*}
$$

are satisfied, then the series $\sum_{n=1}^{\infty} a_{n} \frac{P_{n} \lambda_{n}}{n p_{n}}$ is summable $\left|A, p_{n}, \beta ; \delta\right|_{k}, k \geq 1, \delta \geq 0$ and

$$
-\beta(\delta k+k-1)+k>0
$$

We need the following lemmas for the proof of Theorem 3.1.
Lemma 3.2 ([11]). If $\left(X_{n}\right)$ is an almost increasing sequence, then under the conditions (2.2)-(2.3), we have that

$$
\begin{align*}
& n X_{n} \beta_{n}=O(1),  \tag{3.7}\\
& \sum_{n=1}^{\infty} \beta_{n} X_{n}<\infty . \tag{3.8}
\end{align*}
$$

Lemma 3.3 ([4]). If the conditions (2.6) and (2.7) are satisfied, then $\Delta\left(P_{n} / p_{n} n^{2}\right)=O\left(1 / n^{2}\right)$.

## 4. Proof of Theorem 3.1

Let $\left(I_{n}\right)$ denotes $A$-transform of the series $\sum_{n=1}^{\infty} \frac{a_{n} P_{n} \lambda_{n}}{n p_{n}}$. Then, by (1.11) and (1.12), we have

$$
\bar{\Delta} I_{n}=\sum_{v=1}^{n} \hat{a}_{n v} \frac{a_{v} P_{v} \lambda_{v}}{v p_{v}} .
$$

Applying Abel's transformation to this sum, we get that

$$
\begin{aligned}
\bar{\Delta} I_{n}= & \sum_{v=1}^{n} \hat{a}_{n v} \frac{v a_{v} P_{v} \lambda_{v}}{v^{2} p_{v}} \\
= & \sum_{v=1}^{n-1} \Delta_{v}\left(\frac{\hat{a}_{n v} P_{v} \lambda_{v}}{v^{2} p_{v}}\right) \sum_{r=1}^{v} r a_{r}+\frac{\hat{a}_{n n} P_{n} \lambda_{n}}{n^{2} p_{n}} \sum_{r=1}^{n} r a_{r} \\
= & \sum_{v=1}^{n-1} \Delta_{v}\left(\frac{\hat{a}_{n v} P_{v} \lambda_{v}}{v^{2} p_{v}}\right)(v+1) t_{v}+\frac{a_{n n} P_{n} \lambda_{n}}{n^{2} p_{n}}(n+1) t_{n} \\
= & \sum_{v=1}^{n-1} \Delta_{v}\left(\hat{a}_{n v}\right) \frac{(v+1)}{v^{2}} \frac{P_{v} \lambda_{v}}{p_{v}} t_{v}+\sum_{v=1}^{n-1} \frac{\hat{a}_{n, v+1} P_{v}}{p_{v}} \Delta \lambda_{v} t_{v} \frac{(v+1)}{v^{2}} \\
& +\sum_{v=1}^{n-1} \hat{a}_{n, v+1} \lambda_{v+1} \Delta\left(\frac{P_{v}}{v^{2} p_{v}}\right) t_{v}(v+1)+\frac{a_{n n} P_{n} \lambda_{n}}{n^{2} p_{n}}(n+1) t_{n} \\
= & I_{n, 1}+I_{n, 2}+I_{n, 3}+I_{n, 4} .
\end{aligned}
$$

To complete the proof of Theorem 3.1, by Minkowski's inequality, it is enough to show that

$$
\begin{equation*}
\sum_{n=1}^{\infty}\left(\frac{P_{n}}{p_{n}}\right)^{\beta(\delta k+k-1)}\left|I_{n, r}\right|^{k}<\infty, \quad \text { for } r=1,2,3,4 . \tag{4.1}
\end{equation*}
$$

First, using the fact that $P_{v}=O\left(v p_{v}\right)$ by (2.6), we have that

$$
\sum_{n=2}^{m+1}\left(\frac{P_{n}}{p_{n}}\right)^{\beta(\delta k+k-1)}\left|I_{n, 1}\right|^{k}=O(1) \sum_{n=2}^{m+1}\left(\frac{P_{n}}{p_{n}}\right)^{\beta(\delta k+k-1)}\left(\sum_{v=1}^{n-1}\left|\Delta_{v}\left(\hat{a}_{n v}\right)\right|\left|\lambda_{v}\right|\left|t_{v}\right|\right)^{k} .
$$

Now, applying Hölder's inequality with indices $k$ and $k^{\prime}$, where $k>1$ and $\frac{1}{k}+\frac{1}{k^{\prime}}=1$, we have that

$$
\begin{aligned}
\sum_{n=2}^{m+1}\left(\frac{P_{n}}{p_{n}}\right)^{\beta(\delta k+k-1)}\left|I_{n, 1}\right|^{k} & =O(1) \sum_{n=2}^{m+1}\left(\frac{P_{n}}{p_{n}}\right)^{\beta(\delta k+k-1)}\left(\sum_{v=1}^{n-1}\left|\Delta_{v}\left(\hat{a}_{n v}\right)\right|\left|\lambda_{v}\right|^{k}\left|t_{v}\right|^{k}\right)\left(\sum_{v=1}^{n-1}\left|\Delta_{v}\left(\hat{a}_{n v}\right)\right|\right)^{k-1} \\
& =O(1) \sum_{n=2}^{m+1}\left(\frac{P_{n}}{p_{n}}\right)^{\beta(\delta k+k-1)} a_{n n}^{k-1}\left(\sum_{v=1}^{n-1}\left|\Delta_{v}\left(\hat{a}_{n v}\right)\right|\left|\lambda_{v}\right|^{k}\left|t_{v}\right|^{k}\right)
\end{aligned}
$$

Now, using the fact that $a_{n n}=O\left(\frac{p_{n}}{P_{n}}\right)$ by (3.3), we have that

$$
\begin{aligned}
\sum_{n=2}^{m+1}\left(\frac{P_{n}}{p_{n}}\right)^{\beta(\delta k+k-1)}\left|I_{n, 1}\right|^{k}= & O(1) \sum_{n=2}^{m+1}\left(\frac{P_{n}}{p_{n}}\right)^{\beta(\delta k+k-1)-k+1}\left(\sum_{v=1}^{n-1}\left|\Delta_{v}\left(\hat{a}_{n v}\right)\right|\left|\lambda_{v}\right|^{k}\left|t_{v}\right|^{k}\right) \\
= & O(1) \sum_{v=1}^{m}\left|\lambda_{v}\right|^{k}\left|t_{v}\right|^{k} \sum_{n=v+1}^{m+1}\left(\frac{P_{n}}{p_{n}}\right)^{\beta(\delta k+k-1)-k+1}\left|\Delta_{v}\left(\hat{a}_{n v}\right)\right| \\
= & O(1) \sum_{v=1}^{m}\left(\frac{P_{v}}{p_{v}}\right)^{\beta(\delta k+k-1)-k}\left|\lambda_{v}\right|^{k-1}\left|\lambda_{v}\right|\left|t_{v}\right|^{k} \\
= & O(1) \sum_{v=1}^{m}\left(\frac{P_{v}}{p_{v}}\right)^{\beta(\delta k+k-1)-k}\left|\lambda_{v}\right|\left|t_{v}\right|^{k} \\
= & O(1) \sum_{v=1}^{m-1} \Delta\left|\lambda_{v}\right| \sum_{r=1}^{v}\left(\frac{P_{r}}{p_{r}}\right)^{\beta(\delta k+k-1)-k}\left|t_{r}\right|^{k} \\
& +O(1)\left|\lambda_{m}\right| \sum_{v=1}^{m}\left(\frac{P_{v}}{p_{v}}\right)^{\beta(\delta k+k-1)-k}\left|t_{v}\right|^{k} \\
= & O(1) \sum_{v=1}^{m-1}\left|\Delta \lambda_{v}\right| X_{v}+O(1)\left|\lambda_{m}\right| X_{m} \\
= & O(1) \sum_{v=1}^{m-1} \beta_{v} X_{v}+O(1)\left|\lambda_{m}\right| X_{m} \\
= & O(1) \text { as } m \rightarrow \infty
\end{aligned}
$$

by virtue of the hypotheses of Theorem 3.1 and Lemma 3.2.
Now, using Hölder's inequality, we have that

$$
\begin{aligned}
\sum_{n=2}^{m+1}\left(\frac{P_{n}}{p_{n}}\right)^{\beta(\delta k+k-1)}\left|I_{n, 2}\right|^{k} & =O(1) \sum_{n=2}^{m+1}\left(\frac{P_{n}}{p_{n}}\right)^{\beta(\delta k+k-1)}\left(\sum_{v=1}^{n-1}\left|\hat{a}_{n, v+1}\right|\left|\Delta \lambda_{v}\right|\left|t_{v}\right|\right)^{k} \\
& =O(1) \sum_{n=2}^{m+1}\left(\frac{P_{n}}{p_{n}}\right)^{\beta(\delta k+k-1)}\left(\sum_{v=1}^{n-1} v\left|\Delta_{v}\left(\hat{a}_{n v}\right)\right| \beta_{v}\left|t_{v}\right|\right)^{k} \\
& =O(1) \sum_{n=2}^{m+1}\left(\frac{P_{n}}{p_{n}}\right)^{\beta(\delta k+k-1)}\left(\sum_{v=1}^{n-1} v \beta_{v}\left|\Delta_{v}\left(\hat{a}_{n v}\right)\right|\left|t_{v}\right|^{k}\right)\left(\sum_{v=1}^{n-1} v \beta_{v}\left|\Delta_{v}\left(\hat{a}_{n v}\right)\right|\right)^{k-1} .
\end{aligned}
$$

Since

$$
\Delta_{v}\left(\hat{a}_{n v}\right)=\hat{a}_{n v}-\hat{a}_{n, v+1}=\bar{a}_{n v}-\bar{a}_{n-1, v}-\bar{a}_{n, v+1}+\bar{a}_{n-1, v+1}=a_{n v}-a_{n-1, v}
$$

we get that

$$
\sum_{v=1}^{n-1}\left|\Delta_{v}\left(\hat{a}_{n v}\right)\right|=\sum_{v=1}^{n-1}\left(a_{n-1, v}-a_{n v}\right) \leq a_{n n}
$$

Thus, we obtain

$$
\sum_{n=2}^{m+1}\left(\frac{P_{n}}{p_{n}}\right)^{\beta(\delta k+k-1)}\left|I_{n, 2}\right|^{k}=O(1) \sum_{n=2}^{m+1}\left(\frac{P_{n}}{p_{n}}\right)^{\beta(\delta k+k-1)} a_{n n}^{k-1}\left(\sum_{v=1}^{n-1} v \beta_{v}\left|\Delta_{v}\left(\hat{a}_{n v}\right)\right|\left|t_{v}\right|^{k}\right) .
$$

Now, using (3.3), we have that

$$
\begin{aligned}
\sum_{n=2}^{m+1}\left(\frac{P_{n}}{p_{n}}\right)^{\beta(\delta k+k-1)}\left|I_{n, 2}\right|^{k}= & O(1) \sum_{n=2}^{m+1}\left(\frac{P_{n}}{p_{n}}\right)^{\beta(\delta k+k-1)-k+1}\left(\sum_{v=1}^{n-1} v \beta_{v}\left|\Delta_{v}\left(\hat{a}_{n v}\right)\right|\left|t_{v}\right|^{k}\right) \\
= & O(1) \sum_{v=1}^{m} v \beta_{v}\left|t_{v}\right|^{k} \sum_{n=v+1}^{m+1}\left(\frac{P_{n}}{p_{n}}\right)^{\beta(\delta k+k-1)-k+1}\left|\Delta_{v}\left(\hat{a}_{n v}\right)\right| \\
= & O(1) \sum_{v=1}^{m} v \beta_{v}\left|t_{v}\right|^{k}\left(\frac{P_{v}}{p_{v}}\right)^{\beta(\delta k+k-1)-k} \\
= & O(1) \sum_{v=1}^{m-1} \Delta\left(v \beta_{v}\right) \sum_{r=1}^{v}\left(\frac{P_{r}}{p_{r}}\right)^{\beta(\delta k+k-1)-k}\left|t_{r}\right|^{k} \\
& +O(1) m \beta_{m} \sum_{v=1}^{m}\left(\frac{P_{v}}{p_{v}}\right)^{\beta(\delta k+k-1)-k}\left|t_{v}\right|^{k} \\
= & O(1) \sum_{v=1}^{m-1}\left|\Delta\left(v \beta_{v}\right)\right| X_{v}+O(1) m \beta_{m} X_{m} \\
= & O(1) \sum_{v=1}^{m-1} v\left|\Delta \beta_{v}\right| X_{v}+O(1) \sum_{v=1}^{m-1} \beta_{v} X_{v}+O(1) m \beta_{m} X_{m} \\
= & O(1) \text { as } m \rightarrow \infty,
\end{aligned}
$$

by virtue of the hypotheses of Theorem 3.1 and Lemma 3.2 .
Since $\Delta\left(\frac{P_{v}}{v^{2} p_{v}}\right)=O\left(\frac{1}{v^{2}}\right)$, we have that

$$
\begin{aligned}
\sum_{n=2}^{m+1}\left(\frac{P_{n}}{p_{n}}\right)^{\beta(\delta k+k-1)}\left|I_{n, 3}\right|^{k} & =O(1) \sum_{n=2}^{m+1}\left(\frac{P_{n}}{p_{n}}\right)^{\beta(\delta k+k-1)}\left(\sum_{v=1}^{n-1}\left|\hat{a}_{n, v+1}\right|\left|\lambda_{v+1}\right| \frac{\left|t_{v}\right|}{v}\right)^{k} \\
& =O(1) \sum_{n=2}^{m+1}\left(\frac{P_{n}}{p_{n}}\right)^{\beta(\delta k+k-1)}\left(\sum_{v=1}^{n-1}\left|\Delta_{v}\left(\hat{a}_{n v}\right)\right|\left|\lambda_{v+1}\right|\left|t_{v}\right|\right)^{k} \\
& =O(1) \sum_{n=2}^{m+1}\left(\frac{P_{n}}{p_{n}}\right)^{\beta(\delta k+k-1)}\left(\sum_{v=1}^{n-1}\left|\Delta_{v}\left(\hat{a}_{n v}\right)\right|\left|\lambda_{v+1}\right|^{k}\left|t_{v}\right|^{k}\right)\left(\sum_{v=1}^{n-1}\left|\Delta_{v}\left(\hat{a}_{n v}\right)\right|\right)^{k-1} \\
& =O(1) \sum_{n=2}^{m+1}\left(\frac{P_{n}}{p_{n}}\right)^{\beta(\delta k+k-1)} a_{n n}^{k-1}\left(\sum_{v=1}^{n-1}\left|\Delta_{v}\left(\hat{a}_{n v}\right)\right|\left|\lambda_{v+1}\right|^{k}\left|t_{v}\right|^{k}\right)
\end{aligned}
$$

By using (3.3), as in $I_{n, 1}$, we have that

$$
\sum_{n=2}^{m+1}\left(\frac{P_{n}}{p_{n}}\right)^{\beta(\delta k+k-1)}\left|I_{n, 3}\right|^{k}=O(1) \sum_{n=2}^{m+1}\left(\frac{P_{n}}{p_{n}}\right)^{\beta(\delta k+k-1)-k+1}\left(\sum_{v=1}^{n-1}\left|\Delta_{v}\left(\hat{a}_{n v}\right)\right|\left|\lambda_{v+1}\right|\left|t_{v}\right|^{k}\right)
$$

$$
\begin{aligned}
& =O(1) \sum_{v=1}^{m}\left|\lambda_{v+1}\right|\left|t_{v}\right|^{k} \sum_{n=v+1}^{m+1}\left(\frac{P_{n}}{p_{n}}\right)^{\beta(\delta k+k-1)-k+1}\left|\Delta_{v}\left(\hat{a}_{n v}\right)\right| \\
& =O(1) \sum_{v=1}^{m}\left(\frac{P_{v}}{p_{v}}\right)^{\beta(\delta k+k-1)-k}\left|\lambda_{v+1}\right|\left|t_{v}\right|^{k} \\
& =O(1) \text { as } m \rightarrow \infty,
\end{aligned}
$$

by virtue of hypotheses of Theorem 3.1, Lemma 3.2 and Lemma 3.3,
Finally, by using Abel's transformation, as in $I_{n, 1}$, we have that

$$
\begin{aligned}
\sum_{n=1}^{m}\left(\frac{P_{n}}{p_{n}}\right)^{\beta(\delta k+k-1)}\left|I_{n, 4}\right|^{k} & =O(1) \sum_{n=1}^{m}\left(\frac{P_{n}}{p_{n}}\right)^{\beta(\delta k+k-1)} a_{n n}^{k}\left|\lambda_{n}\right|^{k}\left|t_{n}\right|^{k} \\
& =O(1) \sum_{n=1}^{m}\left(\frac{P_{n}}{p_{n}}\right)^{\beta(\delta k+k-1)-k}\left|\lambda_{n}\right|^{k-1}\left|\lambda_{n}\right|\left|t_{n}\right|^{k} \\
& =O(1) \sum_{n=1}^{m}\left(\frac{P_{n}}{p_{n}}\right)^{\beta(\delta k+k-1)-k}\left|\lambda_{n}\right|\left|t_{n}\right|^{k} \\
& =O(1) \text { as } m \rightarrow \infty,
\end{aligned}
$$

by virtue of the hypotheses of Theorem 3.1 and Lemma 3.2
This completes the proof of Theorem 3.1.

## 5. Corollaries

Corollary 1. If we take $\beta=1$ and $\delta=0$, then we get a theorem dealing with $\left|A, p_{n}\right|_{k}$ summability (see [9]).

Corollary 2. If we take $\beta=1, \delta=0$ and $a_{n v}=\frac{p_{v}}{P_{n}}$, then we get Theorem 2.1.

## 6. Conclusion

We prove a general theorem for absolute matrix summability of infinite series by virtue of almost increasing sequence. This general theorem enrich the literature of summability theory and create basis for future researches.

## Competing Interests

The authors declare that they have no competing interests.

## Authors' Contributions

All the authors contributed significantly in writing this article. The authors read and approved the final manuscript.

## References

[1] N. K. Bari and S. B. Stečkin, Best approximations and differential properties of two conjugate functions, (Russian) Trudy Moskov. Mat. Obšč. 5 (1956), 483 - 522, URL: http://www.mathnet. ru/php/archive.phtml?wshow=paper\&jrnid=mmo\&paperid=56\&option_lang=eng.
[2] H. Bor, A note on $\left|\bar{N}, p_{n}\right|_{k}$ summability factors of infinite series, Indian J. Pure Appl. Math. 18 (1987), 330 - 336, URL: https://insa.nic.in/writereaddata/UpLoadedFiles/IJPAM/ 20005a53_330.pdf.
[3] H. Bor, A note on absolute Riesz summability factors, Math. Inequal. Appl. 10 (2007), 619 - 625, DOI: 10.7153/mia-10-58.
[4] H. Bor, Absolute summability factors for infinite series, Indian J. Pure Appl. Math. 19 (1988), 664 671, URL:https://insa.nic.in/writereaddata/UpLoadedFiles/IJPAM/20005a52_664.pdf.
[5] H. Bor, On local property of $\left|\bar{N}, p_{n} ; \delta\right|_{k}$ summability of factored Fourier series, J. Math. Anal. Appl. 179 (1993), 646 - 649, DOI: $10.1006 / \mathrm{jmaa} .1993 .1375$.
[6] H. Bor, On two summability methods, Math. Proc. Camb. Philos Soc. 97 (1985), 147 - 149, DOI: 10.1017/S030500410006268X.
[7] A. N. Gürkan, Absolute Summability Methods of Infinite Series, Ph.D Thesis, Erciyes University, Kayseri (1998).
[8] G. H. Hardy, Divergent Series, Oxford University Press, Oxford (1949), URL: https://sites .math washington.edu/~morrow/335_17/Hardy-DivergentSeries\ 2.pdf.
[9] H. S. Özarslan, A new application of almost increasing sequences, Miskolc Math. Notes 14 (2013), 201-208, DOI: 10.18514/MMN.2013.390.
[10] H. S. Özarslan and H. N. Öğdük, Generalizations of two theorems on absolute summability methods, Aust. J. Math. Anal. Appl. 1 (2004), Article 13, 7 pages, URL: https://ajmaa.org/searchroot/ files/pdf/v1n2/v1i2p13.pdf.
[11] S. M. Mazhar, A note on absolute summability factors, Bull. Inst. Math. Acad. Sinica 25 (1997), 233 - 242, URL: https://web.math.sinica.edu.tw/bulletin/bulletin_old/d253/25304.pdf.
[12] W. T. Sulaiman, Inclusion theorems for absolute matrix summability methods of an infinite series (IV), Indian J.Pure Appl. Math. 34 (11) (2003), 1547 - 1557, https://insa.nic.in/ writereaddata/UpLoadedFiles/IJPAM/2000c4ed_1547.pdf.


[^0]:    Copyright © 2019 Hikmet S. Özarslan and Ahmet Karakaş. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

